Nombres et Racines Carres (C)

V16

V144

V81

V576

16

192

267

30?

Trouvez la racine ou calculez I'exposant.

576 = 34
T = a4
N1 - A
o Atozs = A576
S ] = &4
- 22 = 122
- 172 = 30°
- 312 = 307
- 322 = 172
282 = 26°
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Nombres et Racines Carrés (C) Solutions

V16

V144

V81

V576

Trouvez la racine ou calculez I'exposant.

— 4 576 — 24 \324 =18

=12 36 =6 484 =22

=9 V121 =11 V169 =13

=24 \1 024 =32 576 =24

=3 V841 =29 V841 =29
16> =256 22 =4 12 =144
19 =361 17> =289 30° =900
26% =676 317 =961 30° =900
77 =49 322 =1024 172 =289
30 =900 28% =784 26 =676
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